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ICH
June - Examination 2016
BScP Examination
Introductory Chemistry

Paper - ICH
Time : 3 Hours ] [ Max. Marks :- 80

Note: This question paper has 3 parts. A, B and C. Write answer as
per given instructions.

fAder: 39 UeT 99 & i @S g, 3, 9 IR FI UAP TGS b
SR wef & IR fotRay|

Section - A 8§x2=16
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum upto 30 words. Each question carries 2 marks.

Qus - ‘3’
(@rfer o7 IR 9e)
fder: At wedAl @1 IR ARTTI 3MMT U IR DI YEATAR T

9Tee, U g1y AT JAeehay 30 et # uRAIfT Hifswl ude
U9 2 31 Bl ¢

1) (i) Give the name and configuration of element No. 29.

q<d hHID 29 BT AT ToAT Felaei+d I S|
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(i) Write the chemical formula and structure of Inorganic
Benzene.

ST doiid T RIS G I T fora|

(iii) Write the name of two Aromatic Compound.
q WiHfes diftet & AW foaRau)

(iv) Which metals are used as catalystin laboratory preparation
of NH, (Ammonia) and H,SO, (Sulphuric Acid).
DT GGV IORD &b HY IHIRAT TAT ATIRD 37 D
AT fHfor § & 3t 82

(v) Name the Basic Radicals present in V" Group.
U g H SURT RET ol & 9 fIRay|

(vi) What is common ion effect.
R U1 o7 B 7

(vii) Name the allotropes of carbon.
P & e 3oy g2 A fora|

(viii) Write the type of hybridisation and bond angle in Ethene.
Tefl § AT HHRUT BIAT @ AT SR HT 7 T Bl @ 2

Section - B 4%x8=32
(Short Answer Questions)

Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 8 marks.

(Tvs - 9)
(oTg ITRIT UeA)

fAder: =gl IR 99T &7 IR SITTI 3T 3199 IR Dl 37feIhay
200 grat # R HfTul T ueT 8 31 T gl
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What is a Basic Radical? Write the test for the Identification of
NH,".
&R et T & 2 NH,* (3™ &1 uga™ & wRiamr forlRau)
Write five differences between crystalline and non crystalline
solid?
oot e Jifcheecty 3t | U iR foran ?
Explain viscosity with the help of an example?

AT BT ISRV TISe HIfvTT|

Which elements of d-block are not considered as transition
element and why?

d-scT1eh & PIT T} Pl FehHUT O gl gl STl @ 3TN T ?

Explain Nucleophilic Reagents with example.

ATfYp T B HDPT BT ISTERUT AT TUSE BT

What is Law of Mass Action. Who gave it?

S ST fepa o R 22 3 b d=nfes e ?

Explain Brownsted Lowri’'s Acid Base concept.

3T 8RG Dl IR IR RIgid a7 g2 g9sTsy|
What is normality?
Trfera T 8 ?
Section-C 2%X16=32

(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each

answer maximum upto 500 words. Each question carries
16 marks.
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(Tvs - w)
(e TR ¥ed)

fAder : gl @ U9l & IR SINTTI 31T 3109 IR B 3ifrpad 500
grect o gRAT BT 81 Udd U9 16 37 P 3l

10) What is Chemical Bond? Explain it's different types.
INRIfe 99 7T 82 I fohd YR T BT £ ? FHSY |

11) What is Titration? Explain its types with the help of examples.
SIHTIT T g ? U fohd™ UehR T Il & ? ISTeR0T e FHsIs |

12) Write short notes on the following —
o1 &R wfered fewft forar -
(i) Acidic Nature of Alkyne.
ToehlS <l 3TFelld Fehldl.

(ii) Cyclic Polymerizational Alkyne.

TeehTgT bl TihId SEeilchRUT.

(iiii) Reduction of Alkyne.
Uodhlg bl I,

(iv) Hybridization and Bond angle in Alkyne.
Uochlg H GepNUl g §¢ PI0T ?

13) Whatis Isomerism? Explain its types with the help of examples.

FHEIGIIAT FT 2 ? $P UDRI Dl IGERU Afgd TS DI |
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